
T H E  M A T T R E S S  S T O R E

Manual Installation



A.

B.

C.

D.

E.

G.

H. I.

Assemble Bed

STEP 1

Find all accessories and screws.

A. M8-50 Truss Head screws x 10
B. M8-40 Truss Head screws x 8
C. M8-30 Truss Head screws x 16
D. M8-20 Truss Head screws x 8
E. Nut x 4
F. Bedside support x 2
G. Bed center support x 2
H. Angle bracket x 4
I. Leg x 4
J. Washer x 42
K. Adjustable leg x 4

J.

Take the shroud, bed and headboard out of the packaging.

STEP 2

F.

K.



STEP 3

Use M8-30 Truss Head screws to fix the left and right side 
shroud with bottom shroud. 

STEP 4

Use M8-40 Truss Head screws to fix the bottom shroud to the  
headboard.



STEP 5

Use M8-50 Truss Head screws to fix the bedside support with 
right and left side of bottom shroud.

STEP 6

Use M8-20 Truss Head screws to fix both bed center supports with 
two  adjustable legs on each side.



STEP 7

Use M8-40 Truss Head screws fix both bedside support with
 headboard and bottom shroud.

STEP 8

Use nuts to fix the screwed legs with the bracket joined to the headboard.



STEP 9 STEP 10

Place both the upholstered wooden base at the top. Place Mattress over the bed and feel the comfort.


